Leuze

7I= HIOJH A E

o A

3 #HZ: 50151050
ISS 244PP2/44-40N-S12

e
- 71% dlolg]
- K% 2B

- H7| 9

- troloj a3
NE =W
- HE 719E
Sl

- A AIA 2]

nc
4>
3.

b

0

oy

F ko[ 7t

=]

(€ @

LISTED

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com e ¥y el BER
The Sensor People In der Braike 1, 73277 Owen F3k: +49 7021 573-0 « WA +49 7021 573-199  kor « 2025-03-27 1/6



rh

bl
=]

rx
x
]

7|= H|0|E

7|2 H|ojE

EES
HYEol Mzt 2| W S
s, 4% e

n

S Rd

S22

SdHs

MTTF

7| Hlo|E

H3 3|2
‘45 HlolE
SE2HY HH U,
TEEE
gz M
s YU, ZCH(%/S,)
2919 3| AHZA A
£

CIXE 2908 &8

ot
1

% |y
2 0
= iy

2 2 40 2 4o
E T R
Ju
B
2

B

o
oy 2 O opt

OF
-t

2919 231
A9 A%
2908 2|

2919 &8 2
AQH A%t
2914 gz

The Sensor People

= $=: 50151050  ISS 244PP2/44-40N-S12

244
40 mm
0..324 mm

Dark/light

1,900 &

10 ... 30 V, DC

0 .. 10 %, U0l A
0..20 mA

5%

20 %

2 W=

EZHX|AH, PNP
Al 7HE HE(NO) - Dark/Light

EMX|AH, PNP
Al H2f FE(NC) - Dark/Light

200 Hz

A

-
N

=

_|

ot 1 o
N o> op
15 fot mp

o i 2
m

M12

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

712 olo|Ef

cixtel

X|%:(LH] x 0] x Zol)
Tty

e M=

Leuze

Ay
40 mm x 40 mm x 66 mm
LIEHS| UX| &S

Bata

128 g
A RAL 3000

S

SZ OREc=z

120 x 120mm?, Fe360

FEA| HHAl LED
LED 7l 4 ==
=2t Hlo|E
IS A FH2E -25..80 °C
B Al FH 25 -25 .80 °C
s
HS 55 IP 68
IP 69K
HS S5 Il
s cULUS
™o E EMV H|AE 44| IEC 61000-4-2
IEC 61000-4-3
IEC 61000-4-4
a8 13 IEC 60947-5-2
8 A=
L20|E 0.4
2AH|QlZ|A 0.7
T2 0.39
s 0.48
ZH Fe360 1
=&
HS HZ 85365019
ECLASS 5.1.4 27270101
ECLASS 8.0 27270101
ECLASS 9.0 27270101
ECLASS 10.0 27270101
ECLASS 11.0 27270101
ECLASS 12.0 27274001
ECLASS 13.0 27274001
ECLASS 14.0 27274001
ECLASS 15.0 27274001
ETIM 5.0 EC002714
ETIM 6.0 EC002714
ETIM 7.0 EC002714
ETIM 8.0 EC002714
ETIM 9.0 EC002714
ETIM 10.0 EC002714
info@leuze.com « www.leuze.com e HE Hel ER
M3} +49 7021 573-0 « A +49 7021 573-199  kor « 2025-03-27 2/6



2 o Leuze

A X2 FE(mm)

[S’:‘ okl
2 LED
=M LED
(=
3 ~
4 Blg
2
wn
wm
S 1 il M12x1
S i 30 40
40
B\F‘ Tt
" fﬂ H— A
| ———] —_—
X I 74
M7 AE
HE 1
IIs Hel 35
=8 Mz
HZER 3R o A4
LEAL 27 M12
] Male
M= 3%
74 44
dag A-ZHE
u | XH 2

— (@)

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com e ¥y el BER
The Sensor People In der Braike 1, 73277 Owen T3k +49 7021 573-0 « T2 +49 7021 573-199  kor » 2025-03-27 3/6



rh
124}
rx
x
I}in

%: 50151050 « ISS 244PP2/44-40N-S12

S, [mm] 40
c 1 [mm] 4
g 2 [mm] 160
N d, D2 ,d, D3 — 3 [mm] 6
% 4 [mm] 240
D1¢_
I I
D4

LED Cl|AE 0]

1 U, o1 HE
A,z

2 S, 0% HE

3 Y, ols HE
A,z

4 =M 014 HE

HE 7IHE

M2 FE: I1SX YYY ZZ/AAA.BB-CCC-DDD-DDD

1SX s e/ A4
IS: 28 MM, m&E CIXtel

ISS: =8 MM, B2 CIXtRI

YYY Agl=

203: @ 3mm Al2|=

204: @ 4mm Al2|=

205: M5 x 0.5 =LEALZE QL= Al2|=

206: @ 6.5mm Al2|=

208: M8 x 1 F=LEARZL Qe Al2[=

212: M12 x 1 =LEALZE Qe Al2|=

218: M18 x 1 F=LEALZE QU= Al2|=

230: M30 x 1.5 =LHARTE Rl Al2|=

240: AFZHS A|2|=

244: AMZH A|2|=

255: EFHAO| 5 x 5mm2Ql A|2|=

288: FHHZ 0| 8 x 8mm2Ql A|2|=
Y44 St A / LEAL

MM 2% ‘+° (2 E T EatAE) / O/H LEAL

P40 AE|QI2|A AlS| 316L) / OJE LEAL

EetAE)/Of B (LEAL H 2))

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

The Sensor People

Leuze

o|n|
22 ZHE/AQE AE
Er2t/ap st
Ats TH| el
22 ZHE/AQE AEY
Er2t/ap st
AtE TH| e
info@leuze.com « www.leuze.com Jled g Hel R

T2} +49 7021 573-0 « WA +49 7021 573-199  kor « 2025-03-27 4/6



o™ MM« F5 B13: 50151050 « ISS 244PP.2/44-40N-S12

AAA EH MR/ 32
4NO: PNP EBX|AH, ¢A| 74
ANC: PNP EZHX|AE, 2HA| T2
2NO: NPN EZHX|AE, &A| 718 HH(NO)
2NC: NPN EX|AE, &fA| mf| 24
1NO: 22f0], &A| 7HE FE(NO) / AC/DC
INC: 2[0], A H2f FH(NC) / AC/DC

44: 2 PNP EMX|AE| AQE %2 Dark/Light(NO + NC)
22: 2 NPN EX|AE| AQE =2, Dark/Light(NO + NC)

L: 10-Link QIE{H O] A

X: T S X] S

BB =7 =H|
S Abel gl =7t HH| giS
S5k ARE HA
5: 52 & K2 V2A(1.4305, AlSI 303)

ccc 53 Hel 7 A Uy
1E0: LEEX Ol AZH Z[CH #H2| 1.0mm / O M X|A
1E5: LEEE Ol AZH Z[CH #HQ| 1.5mm / O X[
2E0: LHEFE QI AZH X[C HQ| 2.0mm / O AX| A
3E0: YUBHA Ol AZH (T HQ| 3.0mm / O AKX 4
4E0: et ol AZH Z|CH HQ| 4.0mm / Of Y AKX 4]
5E0: LA Ol AZH Z|CH Q| 5.0mm / O AX| 4
6E0: YUBHA Ol AZH (T He| 6.0mm / O HX|4]
8EQ0: YUBHE Ol AZH (T He| 8.0mm / O HX|4
10E: LA Ol AZH AL HP| 10.0mm / Of L A XA
12E: LEtH Ol AZH | 2| 12.0mm / O Q) HX[A|
15E: LA Ol AZH AL HP| 15.0mm / Of L A XA
20E: YHIE Ol AZH X[ HQ| 20.0mm / Of QL AX|A
22E: YUEEH Ol AZH | HQ| 22.0mm / Of Y HX|4
2N5: LEFE Ol AZH X|Cf B9 2.5mm / HIOj Q) A XAl
4ANO: et ol AZH Z|CH He| 40mm / H|O§ AX[A
8NO: A Ol AZH (T He| 8.0mm / HIOH Y HX[Al
10N: LEFH Ol AZH A[CH H2| 10.0mm / H|OH Q] AX[4]
12N:; LEtX ol AZH | #Q| 12.0mm / HIOf R AX| 4]
14N; LEtX Ol AZH Z|Ci Q| 14.0mm / HIOf R AX| 4]
15N: LEFH Ol AZH A[CH H2| 15.0mm / H|OH Q] AX[4]
20N: LA Ol AZH X[ Q| 20.0mm / HIO§ R XA
22N: A Ol AZH AT HQ| 22.0mm / H|O§Q A x| Al
25N: LEHE Ol AZH X[ # Q| 25.0mm / HIO§ R A XA
40N: LEHH Ol AZH Z|CH 82| 40.0mm / H|OH Q] AX[A]

DDD 71 HE

SiE Ate gls: A 0|5, BE Z0] 2,000mm
S12: M12 A HUlH, 48, g

Leuze

200-S12: A0]E, Z0] 200mm, M12 /S HUE et 4T 2urst
200-58.3: 0|&, Z0| 200mm, M8 & HUE Zsh 3T, aef
$8.3: M8 Ay FUlE]| 3T, st

005-58.3: /0| &, Z0| 500mm, M8 &3 U E =3, 3, s

050: #0|&, 7|& Z0| 5000mm, 341

G O] MBS Ot MAZOtL| B2 AL S B3 827t ofHL|Ct
=
o

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

The Sensor People

info@leuze.com « www.leuze.com Jled g Hel R
M3t +49 7021 573-0 « TA: +49 7021 573-199  kor « 2025-03-27 5/6



o™ MM« F5 B13: 50151050 « ISS 244PP.2/44-40N-S12

Leuze

A UL OfZ2|H|0] 410f :

& UL 012 2|7 0] 40| M= NEC(National Electric Code)0fl (2 S5 2 3

ZoME A S S E- UL

o K| M 2]

UZ 7% -

e @

e
"ﬁl —]

I

50130654

50130657

of

*

KD U-M12-4A-P1-
020

KD U-M12-4A-P1-
050

re

2 #ol=

ek
A1 A AHYH, M12, HAI Y
8 A4YH, LED: OtL| &2

g2 gy e ERE

Am|E: ot

70| Z0]: 2,000 mm

F70 THZ: PUR

@ 1 2 HYE, M12, YA
Az

2e {4, LED: OfL| 2
g 2. g e ERE
XtE E: ot

7|0]& Z0]: 5000 mm
S0 TZ: PUR

i

i

e

rH

b HSEE 2= AMME 52 =52 ZO0[H & AOIENM F5 MFA

& mojx|e CH2RE ¥E

The Sensor People

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

info@leuze.com « www.leuze.com
M3} +49 7021 573-0 « WA: +49 7021 573-199

JlEH HE AR BER
kor « 2025-03-27 6/6



